PGT Political Science

Q 1). Who among the following has become the world’s youngest and fastest female para
swimmer to swim solo across the English Channel Successfully recently?

(A) Shivani Kataria

(B) Dolly Nazir

(C) Devanshi Satija

(D) Jiya Rai

Correct Answer: (D)

Q 2). Recently, an Indian-origin lecturer named Prasanthi Ram at Nanyang Technological
University has won Singapore Literature Prize for English fiction for her short story
named

(A) Nine Yard Sarees

(B) House of Cards

(C) Dollar Bahu

(D) The Very Expensive Coconut

Correct Answer: (A)

Q 3). Recently, WHO has declared Dhulikhel Municipality as the second healthiest city in
Asia. This Dhulikhel Municipality is in which of the following countries?

(A) India

(B) Bhutan

(C) Nepal

(D) Myanmar

Correct Answer: (C)

Q 4). If a teacher first explains the rule and then gives examples. Which type learning style is
this?

(A)Inductive

(B) Deductive

(C) Indo-Deductive

(D) Ilustration

Correct Answer: (B)

Q 5). In which stage, children are able to think about things in terms of consistent physical

features?

(A) Sensory Motor

(B) Concrete Operational

(C) Pre-Operational

(D) Formal Operational

Correct Answer: (C)
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Q 6). Which of the following is not the main feature of RTE Act?

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood
school.

(B) Completion of Elementary Education even after fourteen years of age.

(C) Private Tuitions by teachers is not prohibited.

(D) No child is denied admission due to lack of age certificate.

Correct Answer: (C)

Q 7). Democracy improves the quality of decision-making because .

(A)decisions are taken by educated people

(B) decisions are taken by consultation and discussion

(C) decisions are taken over a long period of time

(D)all decisions are approved by judiciary

Correct Answer: (B)

Q 8). What does the term incumbent mean?

(A) The candidate contesting election

(B) The current holder of political office

(C) The outgoing candidate in an election

(D) A person who is obligated to do something

Correct Answer: (B)

Q 9). Which country has presidential system of executive?

(A)USA

(B) India

(C)Japan

(D) Pakistan

Correct Answer: (A)

Q 10). As on September 1, 2012, what are the number of seats reserved in Lok Sabha for
Scheduled Caste and Scheduled Tribes respectively?

(A) 85 & 44

(B)47 & 84

(C) 84 & 47

(D) 44 & 85

Correct Answer: (C)
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Q 11). What does bureaucracy not include?

(A) Central services

(B) All India services

(C) State services

(D) Local government services

Correct Answer: (D)

Q 12). What is meant by Secular?

(A)Citizens have complete freedom to follow any religion. But there is no official religion.
Government treats all religious beliefs and practices with equal respect.

(B) All are equal before the law. The traditional social inequalities have to be ended. The
government should ensure equal opportunity for all.

(C) There are no unreasonable restrictions on the citizens in what they think, how they wish
to express their thoughts and the way they wish to follow up their thoughts in action.

(D) People have the supreme right to make decisions on internal as well as external matters.
No external power can dictate the government of India.

Correct Answer: (A)

Q 13). The decision to implement the recommendations of the Mandal Commission was
taken by the .

(A) Left Front Government

(B) Congress Party

(C) National Front Government

(D) the Bahujan Samaj Party

Correct Answer: (C)

Q 14). Which election system has been adopted in India?

(A) FPTP

(B) Proportional representation

(C) Party list system

(D) Single transferrable vote

Correct Answer: (A)
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Q 15). Here the question consists of two statements namely Assertion (A) and Reason (R).
Select the correct answer accordingly.

Assertion (A): A major step towards decentralization was taken in 1992 by amending the
constitution.

Reason (R): Constitution was amended to make the spirit of democracy more powerful and
effective.

(A) Both, A and R, are true and R is the correct explanation of A.

(B) Both, A and R, are true but R is not the correct explanation of A.

(C) If A is true but R is false.

(D) If A is false but R is true.

Correct Answer: (A)

Q 16). Which among the following statements about Soviet System is not true?

(A) The Soviet Union had complex communication.

(B) It had a complex machinery production system and transport sector that connected its
remotest areas with efficiency.

(C) It had a domestic consumer industry that produced everything from pins to cars.

(D) Soviet Union disintegrated in 1992.

Correct Answer: (D)

Q 17). EURATOM is known as which of the following?

(A) Europe Atom Efficiency Community

(B) Europe Aviation Energy Center

(C) European Atomic Energy Community

(D) European Ariel Energetic Center

Correct Answer: (C)

Q 18). Which of the following factors contribute to the rise of regional aspirations in India?

(A) Economic disparities and uneven development across states.

(B) Homogeneity of culture and language across the country.

(C) Centralized governance and uniform policies for all states.

(D) Inter-state cooperation and harmonious relations.

Correct Answer: (A)
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Q 19). Arrange the following in chronological order:

(1). Second General Elections

(i1). V. V. Giri elected as the President of India

(ii1). Fourth General Elections

(iv). Congress(R)-CPI alliance won many seats in General Elections Codes
(A) (1), (iid), (i), (iv)

(B) (i), (ii), (iv), (i)

(C) (i), (iv), (1), (iii)

(D) (iv), (iii), (1), (ii)

Correct Answer: (A)

Q 20). Choose the wrong statement from the following option.

(1). UNICEF was established in 1946 by the UN General Assembly.
(i1). Its main task is to collect emergency funds for natural disasters.
(ii1). It is working in almost 199 countries.

(iv). Its headquarters is in New York, United States.

(A)Only (ii)

(B) Both (i) and (ii)

(C) Both (ii) and (iii)

(D) Only (i)

Correct Answer: (C)
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